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1T TR HE 1 KREFFRAZE 36 33 69
1T KB XALF 4 ABREZE KT 34 35 69
3T NI 1 o NS 36 34 70
3T KE IIRE 4 PR N 34 36 70
3T Al BEF 2 I MERF 32 38 70
6T mH T8 3 KFRIKRF 37 34 71
6T H B 3 KERF AT 37 34 71
6T #EO X 1 KIREZEKRF 37 34 71
6T T ®A-E 2 RFRIAZF 36 35 71
6T kT 2 KRFHIRE 35 36 71
6T b BHEE 3 NGNS 35 36 71
12 ER EH 4 KERFIEARF 35 37 72
13T = Z#F 2 K F 37 36 73
13T HO =30 1 PNUESpNES 36 37 73
13T BpE % 4 EAaKXTE 35 38 73
13T kB FF 3 AFFKRF 35 38 73
13T TEH xiE 4 RFHIRE 34 39 73
18T tisp FHE 1 KFRKRFE 40 34 74
18T PRCIN 3 HHKRF 39 35 74
18T 2 B 2 KBRF TR T 37 37 74
18T fRRY =R 1 KIREFEKRF 35 39 74
22T EAR £H 2 RELKRZE 42 33 75
22T B BARE 2 KFFKRF 41 34 75
22T BEAEH %X 4 NGNS 41 34 75
22T BR AR 3 BEAKF 38 37 75
22T =iE X& 4 AHARSF 37 38 75
22T ER B4 1 KERF AT 37 38 75
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28T ENANESIS 2 RFFKRF 37 39 76
28T 2R K 1 KFRKRFE 37 39 76
30T Wl 2z 2 PNy NES 39 38 77
30T a8 TE 2 BREZFRAE 37 40 77
32T ®yF L= 2 RVAGH: SN2 43 35 78
32T HE R 2 KIRFBRKF 41 37 78
32T NE BE 2 KIRFFRKZF 37 41 78
35T R Rk 4 BEAKE 43 36 79
35T BEE B 1 TR F 40 39 79
37T KE =< 1 PR AN 39 41 80
37T ER BT 2 KERF AT 37 43 80
37T = T 4 KBRFBTKRF 36 44 80
40T e MR 4 ITEKF 41 42 83
40T B *H 3 AFFKRF 39 44 83
42 HFAR £V 4 KREFFRAZE 43 44 87
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